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C
onclusions

Sum
m

ary

1.A
fter

a
FID

report,the
tense

of
the

follow
ing

sentence
in-

fluences
how

com
m

itm
entto

thatsentence
is

interpreted:
(a)M

ore
continuation-readings

w
hen

a
Present

tense
sen-

tence
follow

s
FID

reports
than

other
conditions.

(b)Butdecisions
on

this
condition

w
ere

reached
significantly

faster.
2.R

isks
associated

w
ith

violating
the

Speaker-defaultm
ay

be
m

itigated
w

hen
other

perspectives
are

clearly
established.

Future
w

ork

1.Forced-choice
continuation

study
for

replication
2.M

anipulation
ofpredicate

type
in

continuation
3.O

ther
factors

contributing
to

perspective?

R
esults

C
entral

question:
D

oes
Tense

affect
the

proportion
of

C
ontinuation-readings

FID
and

SID
reports

differently?

A
nsw

er:
Yes!

M
ore

C
ontinuation-readings

for
the

FID
-

Presentcondition
than

other
conditions.

P
ercent C

ontinuation responses by condition

R
eport

Percent Continuation response

FID
S
ID

0 20 40 60 80 100

P
ast
P
resent

*

R
eporttype

Tense
FID

SID
Past

34.29%
(3.04)

38.37%
(3.11)

Present
57.96%

(3.16)
42.45%

(3.16)

Interaction:A
s

predicted,
Present

tense
continuations

w
ere

m
ore

likely
to

elicit
continuation-

readings
w

hen
follow

ing
FID

-
reports

than
w

hen
follow

ing
SID

-reports,z
=

5.987,p
<

0.001.

Q
uestion:

Is
there

evidence
that

shifting
perspective

is
costly?
A

nsw
er:Tentative

yes!D
ata

from
decision

tim
e

on
interpre-

tation
question

suggestthat:
•

W
hile

continuation-readings
elicited

longer
decision

tim
es

on
question

in
general,t=

1.937,p
=

0.05,E.S.=
403.3m

s,
•

Subjects
took

less
tim

e
on

question
for

FID
-Present

item
s,

t
=

−
2.326,p

<
0.05,E.S.=

442.8m
s,than

other
conditions.

Suggestion:
D

eviating
from

the
Speaker-default

m
ay

incur
an

initial
cost,

but
this

cost
need

not
be

sustained
w

hen
m

aintaining
a

non-speaker
perspective,once

established.

Q
uestionnaire

D
esign

Q
uestion

D
oes

Tense
affecthow

FID
reports

are
interpreted

differently
than

other
attitude

reports?

M
aterials

&
M

ethod

•
20

item
s

&
48

U
M

ass
undergraduate

subjects
•

Tw
o

factors:R
eport(FID

v.SID
)and

Tense
(Pastv.Present).

•
Second

sentence
alw

ays
had

perfectprogressive
aspect

•
Forced-choice

questionnaire
w

ith
tw

o
response

variables:
Interpretation

and
D

ecision
tim

e
on

question
untilresponse.

Exam
ple

Item

(3)
Sentence

1:R
eport

A
.

There
m

ightbe
a

storm
today,said

M
ary.

(FID
context)

B.
M

ary
said

thatthere
m

ightbe
a

storm
today.

(SID
context)

(4)
Sentence

2:C
ontinuation

C
louds

had/have
been

brew
ing

allm
orning.

(Past/Present)
(5)

Interpretation
question:

H
ow

did
you

interpret
the

second
sentence?

W
ho

said
the

second
sentence?
a.

Itw
as

M
ary.

(C
ontinuation-reading)

b.
Itw

as
som

eone
else.

(N
arrator-reading)

Interpretation
&

Inference

Predictions
M

ore
continuation-readings

in
FID

-Present
than

other
con-

ditions:
1.IfFID

m
andates

a
shift,then

subjects
should

be
m

ore
w

illing
to

violate
Speaker-defaultifD

A
has

access
to

inform
ation

(Presenttense).
2.If

SID
does

not
require

shift,
then

cues
for

overturning
the

Speaker-
defaultare

less
clear,and

the
strategy

is
m

ore
risky.

Free
IndirectD

iscourse
FID

A
third

person
style

ofreporting
in

w
hich

the
source

of
an

attitude
is

ascribed
to

another,non-speaker
D

A
(Banfield,

1982;Schlenker,2004;Sharvit,2008).

(2)
a.

Itw
as

getting
hum

id
outside,rem

arked
M

ary.
(FID

)
b.

But,w
as

itgoing
to

rain?
(C

ontinuation)

FID
Perspective

Shift

I.FID
reports

are
evaluated

from
the

pointofthe
view

ofthe
attitude

holder,violating
Speaker-default.

O
ther

attitude
reports

optionally
violate

Speaker-default.
II.If

the
D

A
is

in
a

position
to

justify
uttering

the
continua-

tion,then
it

is
congruent

to
posit

a
situation

in
w

hich
the

D
A

,notthe
speaker,is

the
source

ofthatcontent.

Perspective
&

Perspective-shifting
Speaker

C
om

m
itm

entby
D

efault
A

ll
things

being
equal,

content
is

preferentially
evaluated

w
ith

respectto
the

public
beliefs

ofthe
speaker

(Sm
ith,2003;

G
iorgi,2010;H

arris
&

Potts,2010;a.o.).
1.G

ricean:violation
ofQ

uality
–

say
only

w
hatyou

know
is

true
2.Equilibrium

:O
verturning

speaker
defaultis

a
risky

strategy
–

deviate
only

ifcom
m

unicative
intention

is
clear.(H

arris
&

Potts,2010)

V
iolating

the
default

(1)
I

am
increasingly

w
orried

about
m

y
room

m
ate.

She
seem

s
to

be
grow

ing
paranoid.

A
.

She
told

m
e

thatw
e

need
to

w
atch

outfor
the

m
ailm

an,a
pos-

sible
governm

entspy.
(Em

bedded:86%
N

on-speaker)
B.

She
refused

to
talk

w
ith

the
m

ailm
an,

a
possible

governm
ent

spy.
(U

nem
bedded:68%

N
on-speaker)

Pragm
atic

Perspective
Shift

Pragm
atic

factors,atleastin
part,reliably

determ
ine

how
the

com
m

itm
ents

associated
w

ith
propositional

and
attitudinal

contentare
evaluated.

Source
ofC

om
m

itm
ent

1.Inform
ation

aboutthe
epistem

ic
and

em
otive

stances
ofthe

discourse
agents

(D
A

s)helps
determ

ine
w

hich
perspective

is
atissue.

2.A
related

factor
m

ay
be

w
hich

D
A

s
have

access
to

infor-
m

ation
thatjustifies

w
hatis

asserted;disprefer
as

potential
source

a
D

A
w

ho
cannotjustify

asserted
content.

Jesse
A

.H
arris

D
epartm

entofLinguistics,U
niversity

ofM
assachusetts,A

m
herst

The
Pragm

atics
ofFree

IndirectD
iscourse:a

questionnaire
study



0
20

40
60

80
10
0

Average % Continuation-reading, with deviation by condition

Item

%
 C

on
tin

ua
tio

n-
re

ad
in

g

Average
FID-Past
FID-Present
SID-Past
SID-Present

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Experimental Items (only FID conditions shown)

(1) There might be a storm today, said Mary.

Clouds had | have been brewing all morning.

(2) Snow would come soon, thought Jim.

It had | has been getting colder by the minute.

(3) The town must get rain soon, said the villager.

It had | has been dry for months on end.

(4) My career is over, cried the politician.

The media had | has been reporting a new scandal ev-

ery day.

(5) The company is in great peril, gasped the CEO.

The shareholders had | have been discussing a hostile

takeover.

(6) The offense needs to work harder, shouted the coach.

The team hadn’t | hasn’t won a game all season.

(7) It’s going to explode, cried the chemist.

The chemical compound had | has rapidly been grow-

ing unstable.

(8) Something appears to be bothering the animals, said

the zookeeper.

The monkeys had | has been shaking the cage all after-

noon.

(9) The city is under siege, exclaimed the judge.

Violent crime had | has recently been on the rise.

(10) A mutiny might break out at any moment, growled

the first mate.

The ship’s crew hadn’t | hasn’t eaten a good meal in

weeks.

(11) It’s cold in the workshop, admitted the carpenter.

The heat had | has been broken for several weeks.

(12) The books are covered in dust, exclaimed the librar-

ian.

Nobody had | has checked them out in decades.

(13) Conditions in the field hospital are atrocious, sighed

the doctor.

Rebels had | has been stealing the medicine from the

supply room.

(14) Everyone has been so kind, added the bride.

The wedding guests had | has been giving toasts all

night.

(15) The church is very blessed, acknowledged the priest.

The congregation had | has been regularly donating to

the parish for years.

(16) The new play is great success, bragged the actor.

Opening night had | has been sold out months in ad-

vance.

(17) The union is ready to go on strike, whispered the as-

sembly worker.

The factory owners had | has been mistreating its work-

ers for a long time.

(18) The swamp must have once supported a vibrant

ecosystem, concluded the biologist.

New fossils had | has been uncovered every few days.

(19) Times are tough for small farms, grumbled the farmer.

Bigger farms had | has been driving out competition

everywhere.

(20) The National Guard will work with the local police,

announced the governor.

Riots had | has been breaking out all over the city.


